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Announcement item
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]Background and purpose
1Setting of problem
1Procedure and result
1Examination of idea
ISummary

1Reflection and point

]It develops with the business.
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[1]1Backeground and purpose
MPUF society in July, 2013

Problem solving society that everyone can do(Solution LAB) Inauguration

The member

Mr. A . | want to research USIT.

Mr. B : It doesn’t know USIT though it knows TRIZ.
Mr. C : | want to learn USIT.

Mr. D : | want to come to be able to use USIT.

The difference at the level.
Problem
| want to research the technique improvement. .

There are a lot of people who do not know USIT well.
Purpose

The usage of USIT is studied practicing it.



However,
Cost is within 1000 yen.

[2] Sett|ng Of olf Ob]em Making timeWithin 2-3 hours

i

Mr. Nagai proposal
How to Supply Water to a Planter during 10 Days’ Absence .
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[3]Procedure and result 1 (excerpt)
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(1) Problem definition
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(2) Present systems analysis method

(3)Ideal model method

(4) Analysis of time and spatial
characteristic of function
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(5) The first solution

(6) The second solution (the 1)

(7) The second solution (the 2)
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(8) Mutual agreement of priority level

(9)Decision of development plan

[Making of the center problem sentences]
Every day, water is supplied to the soil ..

constant amount.. uniformly.

[Illustratlon of problem sutuatlon]
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[Minimum component extraction]
@DPlant @Water in soil @Soil

@Planter ®Water in container
®Container of water



[3]Procedure and result 2 (excerpt)

(1) Problem definition
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[The center problem model’'s making]

(2) Present systems analysis method

(3)Ideal model method
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(4) Time of function
Analysis of spatial characteristic

(5) The first solution

(6) The second solution (the 1)

uoneJleuss
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(7) The second solution (the 2)

(8) Mutual agreement of priority level

Arewwng

(9) Decision of development plan
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[Sketch of problem situation and
ideal solution]
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[3]Procedure and result 3 (excerpt)
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[3]Procedure and result 4 (excerpt)

[Examination of solution]

uomueq
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(1) Problem definition
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SISA

(2)Present systems analysis method

(3)Ideal model method

(4) Time of function
Analysis of spatial characteristic
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(5) The first solution

(6) The second solution (the 1)

(7) The second solution (the 2)

Arewwng

(8)Mutual agreement of priority level

(9) Decision of development plan
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[3]Procedure and result 5 (excerpt)

[Mutual agreement of priority levell
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(1) Problem definition

leue
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(2)Present systems analysis method

(3)Ideal model method
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[3]Procedure and result 6 (excerpt)
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C)Corner PET bottle F)Bottle can + PET bottle 11
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[B]Summary

Target : Let’s study the usage of USIT practicing it.

Result : An immature person to USIT, while studying, the idea that
was able to be made for the prototype was able to be

shown.

Impression : It follows the procedure. Correctly, It can reach the
answer to be requested at last by piling up the result of

review.

The future : The USIT use practice is piled up, with the knowhow

/ master, the technique improvement is researched.
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[6]Reflection and point 1

(1) It is the most important, and arranges the center problem.

—>Does not the center problem contain two purposes or more?

This center problem : To the soil every day. Itis a constant amount as for water. . uniformly

supplies it.
|
Two purposes were contained.
Water is supplied in a constant amount. and Water is uniformly supplied.
|
It becomes difficult to do the solution systematization.
It becomes difficult to put out the second solution.
|
Water is supplied to the soil in a constant amount every day.
Water is uniformly supplied to the soil every day.

You should individually execute it separately.
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[6]Reflection and point 2

(2) Sentences and rough sketches are indispensable for the solution.

—Only nho sentences. Is the rough sketch shown?
—Only no rough sketch. Is sentences shown?

Purpose in sentences and rough sketches ‘p
@ls it the same idea or a different idea? ~OX
@Where is a different idea? @A@

@ The image is shared in the rough sketch.
@Sentences become indices when arranging and retrieving it.

This failure example
* The rough sketch of idea MO3 that is the high score is hot found.
— The content of the idea was not able to be recalled easily.
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[6]Reflection and point 3

(3)Clarification — disregard is — evaluation condition
and changes into the limiting condition.

@M The limiting condition is clarified first.
This example : Cost is within 1000 yen.
Production is within 2-3 hours.

@The idea is being examined. The limiting condition is disregarded.
To a cheap idea because of the idea with high cost

To the idea at short time because of the idea with long production timA \/ /__

@®When finally evaluating it, the limiting condition is added as an evaluatio
condition.

Is the idea feasible within 1000 yen? —Cost
Can the idea be produced within 2-3 hours?—Time

-t




[7]lt develops with the business.

“Be accustomed “ is more important than “Learn it”.
(1)1t is necessary to use it on business by force when learning it. .
The grasp and the problem of my understanding level become clear.

(2)When my executing it, the center problem definition and making the
SLP diagram are more difficult than the conception stage.

The technique of the center problem definition. Mr. Nagai's
announcement

Cause search development (DeSC)
- The source of a problem is covered -.

Please listen by all means.
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